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Unit 11 Future technology           تكنولوجیا المستقبل      ١١وحدة ال
  

                  Key Words )احفظ الكلمات لأنھا مھمة في امتحان الوزارة( الكلمات الرئیسیة
Key Words: Unit الوحدة الحادیة عشرة  التي وردت في  معاني الكلمات الرئیسیة     ١١                  

  إنشاء/ بناء
  

  السد
  

  یقاطع/ یزعج
  

  یغیر/ یحول
  بالإجبار/ بالقوة

  عدم كفاءة
أو ھویس /قفل

بوابات تتحكم (
  )بتدفق میاه السد

  ھدف
  خزان مائي/ حوض

  
  تكنولوجیا

 the building process, usually of a large 
 structure  
a barrier to stop the flow of water, built  
across a river. 
to upset / disturb / interrupt in a negative 
way. 
to change the route of a road or river 
by force, against one's will 
bad, wasteful organization 
a short section of a river or canal with gates 
which allow ships to move to a higher or a 
lower level 
aim; objective 
a large natural or man-made lake for 
collecting and keeping  water  
science of technical means 

construction 
 
dam 
 
disrupt 
 
divert 
forcibly 
inefficiency 
lock 
 
 
purpose 
reservoir 
 
technology 

 
(WB) Built for safety بني من أجل السلامة 

              رحلات    السیارات تجعل    البحار         الأنھار   تحت          الجبال          عبر           أنفاق     الطرق
Road  tunnels,  through mountains or under rivers and seas, make car journeys 
  

مثل      أنفاق       طویلة                       أسرع              أقصر             جبال الألب     عبر                 
shorter  and  faster.  Some of the long  tunnels,  like those through the Alps, were 
 

ً               بنیت    أولا                       عندما     انجازات              ھندسیة             عظیمة     مثلا  
 incredible  engineering achievements when )١( they were first built. For example, 
 

الذي                                             بین          نفق        مونت بلانك     طولھ    
 the 11 kilometres-long  Mont Blanc  Tunnel  between  France and Italy, )٢( which 
 

ً                            افتتح                       بین          أوقات      الرحلات     قلص           كثیرا  
 was   opened  in 1965, massively   reduced   journey   times   between  the  two 
  

كة   الشحن          زیادة                      السنوات  الحدیثة                     الدولالأنفاق      تستعمل   حر    
countries.  But in  recent years, with the  increase in freight  traffic  using  tunnels, 
 

مروعة         حوادث                                                                        
 there have been some terrible accidents. 
 

نفق           لاردال                                      كانوا یصممون            المخططین              لذلك           
So  when  planners  were  designing  the  24.5  kilometre  Laerdal  Tunnel  in 
  

عرفوا             الناس         اھتمامھم   الرئیسي                                السلامة     النرویج                      
Norway,  safety was one of )٣( their main concerns. People have known for some 
  

دث      تسبب      التي         عوامل  رئیسیة              الوقتالتعب               الأنفاق    الطویلة      الحوا     
time that the main factors )٤( which cause accidents in long tunnels are tiredness  
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بسھولة           السائقین       مساحات  صغیرة        التواجد       الخوف من         الرھــــــاب          

and claustrophobia -  a fear  of   being in   small  spaces.  Drivers  can easily  fall  
 

یجعلھم         لاشيء                         یتغیر               المشھد                           الأنفاق         ینامون   
asleep  in tunnels  because  the  view  never  changes - there  is nothing  to keep 
 

تسیر       مركبات          تسببھا         حوادث       یؤدي إلى           ھذا        متیقظین            
 )٥( them  awake. )٦( This  can  lead to  accidents  caused by vehicles driving into 
 

علماء نفس       وشمل ذلك     خبراء    لذلك     النفق              جانبي   لمعرفة       بحث                  
 the sides  of the  tunnel. So experts, including psychologists, did research to find 
  

كیف              دقیقة     یجعلون           - ٢٠نفقھم     الجدید                   عبر          رحلة   تستغرق    
out how )٧( they  could  make  the  20-minute journey through )٨( their new tunnel 
  

النفق           یبنوا      قرروا أن                      التجارب          بعد               رتابة     اقل                  
less  monotonous.  After  experiments, )٩( they  decided to build the tunnel in four 
 

أقسام"             قاعات"ردھات                     بینھا     /أعلى             أعرض      القاعات                  
 Sections  with "halls" between )١٠( them. The halls are wider and higher than the  
 

ن              الفكرة ھي       شروق الشمس   تشبھ       إضاءة      خاصة     فیھ           النفق   الرئیسيالسائقی  
main tunnel  and have special lighting similar to a sunrise. The idea is that drivers 
  

عبر   وھم یسوقون             منتعشین     سیشعرون  الردھات/القاعات                                                  
will feel refreshed as )١١( they drive through the halls. 
 

حادث             إذا كان ھناك   السلامة      تتعلق بـ      أھداف        أخرى           لھا    القاعات         
The  halls have two other  purposes  related to safety: if there is an accident on 
 

من الطریق    یعودون      القاعات             یلتــفون                السائقین      على الطریق                  
 the road ahead,  drivers  can turn round in the  halls and return the way )١٢( they 

جاؤوا منھا                                                                                                                       
 came.  

یستریحون      التوقف          السائقین     حیث              القاعات      مواقف سیارات          
There  are  also  lay-bys  in the halls )١٣( where  drivers  can stop  and  rest.  The 
  

یتجاوب مع      الذي             نظام         تھویة           فعال                فیھا        نفق        لاردال          
Laerdal  Tunnel also has an efficient  ventilation  system )١٤( which  responds  to 
  

م            موظفین         یراقبون           تلوث     الھواء    النفق              حركة المرور   كمیةتحك    
the amount  of  traffic  in  the tunnel. Air pollution is monitored by staff in a control 

غرفة                                                                                                                             
 room. 

  الضمائر في القطعة
1. they= long tunnels 
2. which= Mont Blanc Tunnel 
3. their= planners 
4. which= main factors 
5. them= drivers 
6. this= the view never changes - there is nothing to keep drivers awake 
7. they= experts, and psychologists 
8. their= experts, and psychologists 
9. they= experts, and psychologists 
10. them= (four) sections 
11+12. they= drivers 
13. where= in the lay-bys in the halls 
14. which= ventilation system 
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A. Answer the following questions based on the text. 
1. According to the first paragraph, road tunnels have two benefits related to car 

    journeys. Write down these two benefits. 

2. According to the second paragraph, there are different reasons for accidents in 

    long tunnels. Write down two of these reasons. 

3. What was the main concern of planners when Laerdal Tunnel was being 

    designed? 

4. According to the third paragraph, the halls have two purposes related to safety. 

    Write them down. 

5. According to the text, the writer thinks that long tunnels are great 

   achievements. Is he justified in this? Explain. 

6. How is the Laerdal Tunnel different from other long tunnels? 

7.  According to the second paragraph, there are some differences between the 

      halls and the main tunnel. Write down two of these differences. 

8.  According to the text, the writer thinks that monotonous journeys cause 

       drivers to fall asleep. Explain this statement, justifying your answer. 

9. Write down the sentence which indicates that some workers regularly  

      observe the level of air pollution in road tunnels. 

10. What does the underlined word 'they", in the second paragraph, refer to? 

11. Find a word in the first paragraph that means the same as “cut down, 
     shortened”. 

B. Critical Thinking 
Most of long journeys make people feel bored, but there are many activities that 

can be done to make these journeys less boring. Think of this statement and, in 

two sentences, write down your point of view. 
 

C. Which words or phrases are used in the article to mean the following:                              
  :الجواب كما یلي

a. unbelievable= incredible                                                           مدھش    / لا یصدق
b. cut down, shortened= reduced                                                           خفض  /قلل
c. lorries and vans carrying things, not people=freight traffic حركة الشحن              
d. what you can see from a place =view                                              منظر   / مشھد
e. stop (someone) from going to sleep= keep (someone) awake  

  أو منتبھاً /متیقظا) شخصاً (یجعل 
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D. Match these words with their meanings.      
  :الإجابات كما یلي

a.4    b.7    c.1   d.2   e.5    f.3   g.6 
a. construction      تشیید /بناء   1 to change the route of a road or river 
b. disrupt یقاطع           / یزعج   2 by force, against one’s will 
c. divert  a short section of a river or canal with gates which 3               یغیر   / یحول
                                            allow ships to move to a higher or a lower level 
d. forcibly  the building process, usually of a large structure 4         بالإجبار / بالقوة
e. inefficiency   bad, wasteful organisation 5       عدم كفاءة    
f. lock  a large natural or man-made lake for collecting and 6             )    أو ھویس(قفل 
                                             keeping  water  
g. reservoir  to upset / disturb / interrupt in a negative way 7  حوض/خزان مائي    
 
E. Choose the suitable item from those given in the box to complete each 
of the following sentences and write it down in your ANSWER BOOKLET. 

  .اكتب إجاباتك في دفتر الإجابة. اختر الكلمة المناسبة وضعھا في الجمل التالیة
forcibly  incredible   view   freight  divert 

  
1. I went on an____________ journey to France. 
2.  The medical supplies were shipped by air ----------- to Jordan. 
3. We had a spectacular --------------- of the mountains from our room. 
4. An earthquake ______moved a lot of people from their houses last week. 

  
F.  EDITING: (4 points) 
Imagine you are an editor in the Jordan Times. You are asked to edit the 
following lines that have four mistakes. Correct the mistakes and write the 
answers in your ANSWER BOOKLET. 
 
Experiments have shown that, apart from exhaostion, drivers can easily fall 
asleep in tunnels because the fiew never changes- there is nothing to keep them 
aweke 
 
Vocabulary                                 المفردات  
Formal/informal غیر رسمي    /رسمي  
Match these words from the talk with a more informal word or phrase. 

  .انیھا بلغة أقل رسمیةطابق الكلمات التالیة والتي وردت في الحدیث مع مع
  :الجواب كما یلي 

1.G     2.D      3. H      4.F    5.A    6.C    7.B    8.E 
1. complete انتھى    /اكتمل  A beginning 
2. construct یشید      / یبني  B move forward 
3. entire كل            / جمیع  C ready to use 
4. extend                 یمتد D build 
5. inception           البدایة E place 
6. operational جاھز للعمل F stretch 
7. progress             تقدم G finish 
8. site مكان             / موقع  H whole 

  ھي أقل رسمیة) A-H(ھي كلمات رسمیة، بینما الكلمات من ) ٨-١(الكلمات في الأعلى من : ملاحظة
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1 Choose the correct formal or informal word to complete these sentences. 
  .الجواب تحتھ خط 

a. What a waste of time! I've spent the (entire / whole جمیع/كل) afternoon 
    fixing my computer. 
b. Since its (inception الافتتاح/البدایة  / beginning), this organisation has 
    been at the forefront of research. 
c. A government spokesman said that the new airport would not be 
    fully( operational جاھز للعمل / ready) to use until early in the new year. 
d. I'll ring you back in a few minutes - I'm just (completing/ 
    finishing انھاء) my lunch. 
e. Have you looked out of the window? They've started (constructing /  
   building بناء) the new block. 
f. The organisation hopes to be able to attract tourists to visit the many 
    historical (sites أماكن/مواقع / places) in the south-east of the country. 
g. Next year the college plans to (extend یوسع / یمد  / stretch) the number 
    of subjects it offers by 50%. 

 /I’ve:، وذلѧѧѧك مѧѧѧن خѧѧѧلال اختصѧѧѧارات الأفعѧѧѧال مثѧѧѧل ةتسѧѧѧتطیع بسѧѧѧھولة تمییѧѧѧز الجملѧѧѧة غیѧѧѧر الرسѧѧѧمی: ملاحظѧѧѧة
I’ll/they’ve . راجع الجمل)e/d/a (لذلك نستعمل في ھده الجمل كلمات أقل رسمیة.  

  

Word families                       عائلات الكلمات  
  احفظ اشتقاقات الكلمات الواردة في التمرین في الأعلى

Adverb     ظرف Adjective       صفة Noun           اسم Verb       فعل 
constructively 

  ھادفة/بطریقة إیجابیة
constructive 

  ایجابي/ ھادف
construction        بناء 
 

construct      یبني 

destructively 
  بطریقة مدمرة

destructive مدمر  / ھدام  destruction        دمار destroy       یدمر 

historically  ً historic تاریخیا أشیاء مھمة (تاریخي 
)في التاریخ  

historical أشѧѧѧѧیاء (تѧѧѧѧاریخي 
)غیر مھمة في التاریخ مھمة أو  

history             التاریخ  
 

X 

completely    ً complete تماما مكتمل    / تام  completion إكمال /إتمام   complete   یكمل/ ینھي  
 
X 

 
X 

builder شѧѧخص یعمѧѧل (بنѧѧاء 
)في البناء  

building               بنایة 

build         یبني 

inefficiently 
  یر فعالة  بطریقة غ

inefficient 
  أو كفء/ غیر فعال

inefficiency 
  أو كفاءة/عدم فاعلیة

 
X 

Archeologically  
  من ناحیة أثریة

archaic              قدیم archaeology علم الآثار 
archaeologist عالم الآثار    

 
X 

 
Choose the correct form of the words in brackets. 
1. Our heating system is very old and extremely ………………(inefficiency) 
2. The car was……………made, so customers didn't like to buy it . (inefficiently) 
3. The hotel was under……………. .      (construct) 
4. They are going to………….a new dam near Irbid. (construction) 
5. The government decided to restore some…………buildings. (history) 
6. …………., Madaba was a leading city in making pottery. (historic) 
7. They will celebrate the……………of the new bridge. (complete) 
8. Motorists can use that road when the work is ………………. . (completely) 
9. Smoking is a………….habit.         (destruction) 
10. The parliament is discussing more strict regulation to stop the ……of forests. 

(destroy) 
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Grammar                                       القواعـد  
Talking about processes (2)        )    ٢(التحدث عن القیام بعملیات 

  :تمارین في الأسفلالادرس الشرح الإضافي عن قواعد المبني للمجھول، ثم تابع حل 
   (Passive)مفصل للمبني للمجھول  إضافيشرح 

Passive                                           المبني للمجھول        
ولكѧن . إلى صیغة المبنѧي للمجھѧول )Modals(تركز مادة المستوى الرابع على تحویل الأفعال الشكلیة : ملاحظة

  .علیك تذكر جمیع تحویلات الأزمنة
  

ة ویكѧѧون الفاعـѧـل فѧѧي أول (جملѧѧة مبنѧي للمعلѧوم : تقسѧم أنѧѧواع الجملѧة الإنجلیزیѧة إلѧѧى نѧوعین: مقدمѧـ
  ).ویكون المفعول بھ أول الجملة(، أو جملة مبني للمجھول )الجملة

قام بالفعل، بینما في جملة المبنѧي للمجھѧول، نھѧتم بالѧذي في جملة المبني للمعلوم، نھتم بالفاعل الذي 
  :ادرس المثال التالي. وھو المفعول بھ -وقع علیھ الفعل

-- Majed cleaned the car . ( active ) )     جملة مبني للمعلوم. (نظف ماجد السیارة  
 ماجد       -تبدأ الجملة بالفاعل/ جملة مبني للمعلوم 

--The car was cleaned by Majed.(passive) .       نظفت السیارة بواسطة ماجد  

  .السیارة -تبدأ بالمفعول بھ/جملة مبني للمجھول 
  

     (Passive Voice)قاعدة المبني للمجھول
  :Passiveاحفظ الترتیب التالي وطبقھ عند تحویل جملة إلى 

 …(التصریف الثالث) am /are/ was /were/ be/ been /being+ pp/ أوis + المفعول بھ
     1                       2                                                            3   

  :                 خطوات تحویل جملة من مبني للمعلوم إلى جملة مبني للمجھول 
  .نضع المفعول بھ أول الجملة. ١
  .حسب زمن الجملة "Be  "ثم نضع أحد أفعال . ٢
  .ثم نضع التصریف الثالث للفعل ونكمل الجملة. ٣

 

  ).Passive(إلى ) Active(ادرس الجدول التالي الذي یوضح قاعدة تحویل فعل من  والآن
 Active  الفعل في جملة          Passive الجواب في جملة              
)مضارع بسیط(تصریف أول              is أو am أو are +pp ) تصریف ثالث(  

)  ماضي بسیط(تصریف ثاني             was أو were + pp ) تصریف ثالث(   
                        Modal            Modal+ be+ pp )تصریف ثالث(  
          (to (أي فعل ینتھي بـ             (…..to) +be+ pp )تصریف ثالث(  
                    have/has           (have/has)+been+ pp )تصریف ثالث(  
                             had           had +been+ pp )تصریف ثالث(  
          (ing)  أي فعل مستمر           (is/am/are/was/were)+being+ pp 

  

  .Passiveعلى قواعد تحویل جملة إلى  سنتدربوالآن 
احفѧѧѧظ القاعѧѧѧدة . Passive إلѧѧѧى) التصѧѧѧریف الأول(سѧѧѧنتدرب علѧѧѧى تحویѧѧѧل المضѧѧѧارع البسѧѧѧیط . ١

  .التالیة أولاً، ثم تابع الشرح والتوضیح
 

Active  الفعل في جملة             Passive الجواب في جملة              
)مضارع بسیط(تصریف أول                   is أو am أو are +pp ) تصریف ثالث(  
 

  .Passiveحول الجملة التالیة إلى : المطلوب
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1. Mona cleans the kitchen every day. 
  :اضع المفعول بھ في بدایة الجملة، ھكذ: الخطوة الأولى

The kitchen…………………………………………. . 
، (cleans)أي التصѧریف الأول -انظر إلى الفعل فѧي الجملѧة، تجѧده مضѧارع بسѧیط: الخطوة الثانیة

وبمѧا أن المفعѧول بѧھ مفѧرد، .  (is,am,are)لذلك نستعمل أحد الأفعال التالیة حسب المفرد والجمѧع
  :ھكذا. (is)نستعمل في الجواب 

The kitchen is…………………………………… . 
، ونكمѧѧل الجملѧѧة إلѧѧى  (pp)إلѧѧى التصѧѧریف الثالѧѧث (cleans)نحѧѧول الفعѧѧل العѧѧادي : الخطѧѧوة الثالثѧѧة

  :فیصبح الجواب ھكذا. نھایتھا
The kitchen is cleaned every day………… . 

ً أن نضѧع . بعد فعل المبنѧي للمجھѧول مباشѧرة (by)ل منى، نضعھ  باستعمال أما الفاع ویجѧوز أیضѧا
  :فیصبح الحل النھائي ھكذا. في نھایة الجملة)  +byالفاعل(

The kitchen is cleaned by Mona every day. 
 

  :Passiveمثال أخر على تحویل المضارع البسیط إلى 
2. Ali writes reports for a local newspaper. 

  :اضع المفعول بھ في بدایة الجملة، ھكذ: الخطوة الأولى
Reports…………………………………………. . 

، لѧذلك نسѧتعمل أحѧد (writes)انظѧر إلѧى الفعѧل فѧي الجملѧة، تجѧده التصѧریف الأول: الخطѧوة الثانیѧة
 وبمѧѧا أن المفعѧѧول بѧѧھ جمѧѧع، نسѧѧتعمل فѧѧي.  (is,am,are)الأفعѧѧال التالیѧѧة حسѧѧب المفѧѧرد والجمѧѧع

  :ھكذا. (are)الجواب 
Reports are…………………………………… . 

، ونكمѧѧل الجملѧѧة إلѧѧى  (pp)إلѧѧى التصѧѧریف الثالѧѧث (writes)نحѧѧول الفعѧѧل العѧѧادي : الخطѧѧوة الثالثѧѧة
  :ھكذا النھائي فیصبح الجواب. نھایتھا

Reports are written for a local newspaper by Ali. 
 

احفѧѧѧظ . Passive إلѧѧѧى) التصѧѧѧریف الثѧѧѧاني(بسѧѧѧیط والآن سѧѧѧنتدرب علѧѧѧى تحویѧѧѧل الماضѧѧѧي ال. ٢
ً، ثم تابع الشرح والتوضیح   .القاعدة التالیة أولا

Active  الفعل في جملة             Passive الجواب في جملة              
)  ماضي بسیط(تصریف ثاني             was أو were + pp ) تصریف ثالث(   

 

  .Passiveحول الجمل التالیة إلى : المطلوب
1. Rami pushed the car yesterday. 

  :اضع المفعول بھ في بدایة الجملة، ھكذ: الخطوة الأولى
The car…………………………………………. . 
 

، لѧѧذلك (pushed)انظѧѧر إلѧѧى الفعѧѧل فѧѧي الجملѧѧة، تجѧѧده التصѧѧریف الثѧѧاني الماضѧѧي: الخطѧѧوة الثانیѧѧة
وبمѧѧا أن المفعѧѧول بѧѧھ مفѧѧرد، .  (was/were)نسѧѧتعمل أحѧѧد الأفعѧѧال التالیѧѧة حسѧѧب المفѧѧرد والجمѧѧع

  :ھكذا. (was)نستعمل في الجواب 
The car was…………………………………… . 

، ونكمѧل الجملѧة إلѧى  (pp)إلѧى التصѧریف الثالѧث (pushed)نحѧول الفعѧل العѧادي : الخطوة الثالثة
  :فیصبح الجواب ھكذا. نھایتھا

- The car was pushed by Rami yesterday.  
 

  :Passiveإلى ) التصریف الثاني(تحویل الماضي البسیط  مثال أخر على
2. Huda broke two cups last week. 

  :اضع المفعول بھ في بدایة الجملة، ھكذ: الخطوة الأولى
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Two cups…………………………………………. . 
، لѧѧذلك (broke)انظѧѧر إلѧѧى الفعѧѧل فѧѧي الجملѧѧة، تجѧѧده التصѧѧریف الثѧѧاني الماضѧѧي: الخطѧѧوة الثانیѧѧة

ѧѧتعمل أحѧѧعنسѧѧرد والجمѧѧب المفѧѧة حسѧѧال التالیѧѧد الأفع(was/were)  . ،عѧѧھ جمѧѧول بѧѧا أن المفعѧѧوبم
  :ھكذا. (were)نستعمل في الجواب 

Two cups were…………………………………… . 
، ونكمѧѧل الجملѧѧة إلѧѧى  (pp)إلѧѧى التصѧѧریف الثالѧѧث (broke)نحѧѧول الفعѧѧل العѧѧادي : الخطѧѧوة الثالثѧѧة

  :فیصبح الجواب ھكذا. نھایتھا
- Two cups were broken by Huda last week. 
 

  :مثل Passive, إلى   Modals والآن سنتدرب على تحویل أفعال. 3
 )will/would/can/could/may/might/must/ought to/shall/should.(  

.احفظ القاعدة التالیة أولاً، ثم تابع الشرح والتوضیح  
 

Active  الفعل في جملة             Passive الجواب في جملة              
                   Modal                   Modal+ be+ pp )تصریف ثالث(  

  .ركز على ھذه القاعدة لأن علیھا تركیز في المستوى الرابع: مھم/انتبھ
  .Passiveحول الجمل التالیة إلى : المطلوب

1. Akram will take the children to the library. 
  :اضع المفعول بھ في بدایة الجملة، ھكذ: الخطوة الأولى

The children…………………………………………. . 
  :ھكذا.  (be) ، لذلك نستعمل   Modal (will)انظر إلى الفعل في الجملة، تجده : الخطوة الثانیة

The children will be…………………………………… . 
، ونكمѧѧل الجملѧѧة إلѧѧى  (pp)إلѧѧى التصѧѧریف الثالѧѧث (take)نحѧѧول الفعѧѧل العѧѧادي : الخطѧѧوة الثالثѧѧة

  :فیصبح الجواب ھكذا. نھایتھا
- The children will be taken by Akram to the library. 
 

فѧѧي  (be)لاحѧѧظ أننѧѧا نسѧѧتعمل الفعѧѧل : (Passiveإلѧѧى  Modalsمثѧѧال أخѧѧر علѧѧى تحویѧѧل أفعѧѧال 
  .Modalsالحل مع جمیع أفعال 

 
2. The man should use a mask. 

  :اضع المفعول بھ في بدایة الجملة، ھكذ :الخطوة الأولى
A mask…………………………………………. . 

.  (be) ، لѧذلك نسѧتعمل   Modal (should)انظѧر إلѧى الفعѧل فѧي الجملѧة، تجѧده : الخطوة الثانیة
  :ھكذا

A mask should be…………………………………… . 
مѧѧѧل الجملѧѧѧة إلѧѧѧى ، ونك (pp)إلѧѧѧى التصѧѧѧریف الثالѧѧث (use)نحѧѧѧول الفعѧѧل العѧѧѧادي : الخطѧѧوة الثالثѧѧѧة

  :فیصبح الجواب ھكذا. نھایتھا
- A mask should be used by the man. 
 

  :مثل. Passive إلى  (to)والآن سنتدرب على تحویل أي فعل ینتھي بـ. 4
(going to, have to, has to, had to, used to, to) 

  .احفظ القاعدة التالیة أولاً، ثم تابع الشرح والتوضیح 
Active  الفعل في جملة             Passive الجواب في جملة              
          (to (أي فعل ینتھي بـ              (…..to) +be+ pp )تصریف ثالث(  
 

  .Passive إلىحول الجمل التالیة : المطلوب
1. Majeda is going to buy a camera next week. 

  :الجملة، ھكذضع المفعول بھ في بدایة ا: الخطوة الأولى
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A camera…………………………………………. . 
 ، لذلك نسѧتعمل   to  (going to) انظر إلى الفعل في الجملة، تجده فعل ینتھي بـ: الخطوة الثانیة

(be)  .ھكذا:  
A camera is going to be…………………………………… . 

الجملѧѧة إلѧѧѧى ، ونكمѧѧѧل  (pp)إلѧѧى التصѧѧѧریف الثالѧѧث (buy)نحѧѧѧول الفعѧѧل العѧѧѧادي : الخطѧѧوة الثالثѧѧة
  :فیصبح الجواب ھكذا. نھایتھا

- A camera is going to be bought by Majeda. 
 

  .(to)، وكذلك الأفعال التي تنتھي بـ   Modalsبعد جمیع أفعال   (be)نستعمل الفعل : لاحظ
  

   (to)تحویل أي فعل ینتھي بـ مثال أخر على
2. Fadi has to write an essay. 

  :اع المفعول بھ في بدایة الجملة، ھكذض: الخطوة الأولى
An essay…………………………………………. . 

 ، لѧذلك نسѧتعمل   to  (has to) انظر إلى الفعل فѧي الجملѧة، تجѧده فعѧل ینتھѧي بѧـ: الخطوة الثانیة
(be)  .ھكذا:  

An essay has to be…………………………………… . 
، ونكمѧѧل الجملѧѧة إلѧѧى  (pp)لثالѧѧثإلѧѧى التصѧѧریف ا (write)نحѧѧول الفعѧѧل العѧѧادي : الخطѧѧوة الثالثѧѧة

  :فیصبح الجواب ھكذا. نھایتھا
- An essay has to be written by Fadi. 
 

احفѧѧѧظ . Passive إلѧѧѧى) have/has+pp(والآن سѧѧѧنتدرب علѧѧѧى تحویѧѧѧل المضѧѧѧارع التѧѧѧام . 5
ً، ثم تابع الشرح والتوضیح   .القاعدة التالیة أولا

  
 

Active  الفعل في جملة             Passive الجواب في جملة              
            have/has+pp              (have/has)+been+ pp )تصریف ثالث(  
 

مع ) has(، بینما نستعمل الفعل (I)مع الفاعل الجمع و الضمیر ) have(نستعمل الفعل : ملاحظة
  .he,she,it:الفاعل المفرد والضمائر التالیة

 

  .Passive إلى حول الجمل التالیة: المطلوب
1. Amal has made a big mistake. 

  :اضع المفعول بھ في بدایة الجملة، ھكذ: الخطوة الأولى
A big mistake…………………………………………. . 

  :ھكذا.  (been) ، لذلك نستعمل   (has +pp)انظر إلى الفعل في الجملة، تجده  : الخطوة الثانیة
A big mistake has been…………………………………… . 

، ونكمѧѧل الجملѧѧة إلѧѧى  (pp)إلѧѧى التصѧѧریف الثالѧѧث (made)نحѧѧول الفعѧѧل العѧѧادي : الخطѧѧوة الثالثѧѧة
  :فیصبح الجواب ھكذا. نھایتھا

- A big mistake has been made by Amal. 
  :مثال آخر

2. Amal has made mistakes. 
ً مѧѧن  (have) ، لѧѧذلك نسѧѧتعمل الفعѧѧل)mistakes(فѧѧي ھѧѧذه الجملѧѧة أن المفعѧѧول بѧѧھ جمѧѧع  لاحѧѧظ بѧѧدلا
  :، فیكون الجواب النھائي، ھكذا)pp+ ((been)ثم نضع بعده ) has(الفعل 

- Mistakes have been made by Amal. 
 

احفѧѧѧظ القاعѧѧѧدة . Passive إلѧѧѧى) had+pp(والآن سѧѧѧنتدرب علѧѧѧى تحویѧѧѧل الماضѧѧѧي التѧѧѧام . 6
ً، ثم تابع الشرح والتوضیح   .التالیة أولا
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Active  الفعل في جملة             Passive الجواب في جملة              
              had+pp                      had +been+ pp )تصریف ثالث(  

  .مع الفاعل الجمع والمفرد وجمیع الضمائر) had(نستعمل الفعل : ملاحظة
 
1. Fadwa had drawn a picture. 

  :اھكذ ضع المفعول بھ في بدایة الجملة،: الخطوة الأولى
A picture…………………………………………. . 

  :ھكذا.  (been) ، لذلك نستعمل   (had +pp)انظر إلى الفعل في الجملة، تجده  : الخطوة الثانیة
A picture had been…………………………………… . 

، ونكمѧѧل الجملѧѧة إلѧѧى  (pp)إلѧѧى التصѧѧریف الثالѧѧث (drawn)نحѧѧول الفعѧѧل العѧѧادي : الخطѧѧوة الثالثѧѧة
  :بح الجواب ھكذافیص. نھایتھا

- A picture had been drawn by Fadwa. 
 

ً یكѧون التصѧریف الثالѧث، لѧذلك لا تغیѧره عنѧد التحویѧل إلѧى ) have/has/had(الفعل الѧذي یقѧع بعѧد : انتبھ دائمѧا
passive.  

 

ً سنتدرب على الأفعѧال المسѧتمرة التѧي تنتھѧي بѧـ. 7 احفѧظ القاعѧدة . Passive إلѧى)  (ingوأخیرا
ً، ثم تابع الشرح والتوضیحالتالیة    .أولا

Active  الفعل في جملة             Passive الجواب في جملة              
          (ing)  أي فعل مستمر            (is/am/are/was/were)+being+ pp 
 

  .Passiveحول الجمل التالیة إلى : المطلوب
1. Ali is cleaning the car now. 

  :اضع المفعول بھ في بدایة الجملة، ھكذ: لىالخطوة الأو
The car…………………………………………. . 

 ، لѧذلك نسѧتعمل   (is cleaning)انظر إلى الفعل فѧي الجملѧة، تجѧده فعѧل مسѧتمر : الخطوة الثانیة
(being)  .ھكذا:  

The car is being…………………………………… . 
، ونكمѧل الجملѧة إلѧى  (pp)صѧریف الثالѧثإلѧى الت (cleaning)نحول الفعل العادي : الخطوة الثالثة

  :فیصبح الجواب ھكذا. نھایتھا
- The car is being cleaned now by Ali. 

  :مثال أخر
2. Ali is cleaning the cars now. 

ً مѧѧن ) are(جѧѧاء المفعѧѧول بѧѧھ جمѧѧع، لѧѧذلك نسѧѧتعمل الفعѧѧل : فѧѧي ھѧѧذه الجملѧѧة لاحѧѧظ فیكѧѧون ). is(بѧѧدلا
  :الجواب النھائي ھكذا

- The cars are being cleaned now by Ali. 
  :مثال أخر

3. The children were building a small house.  
  :اضع المفعول بھ في بدایة الجملة، ھكذ: الخطوة الأولى

A small house…………………………………………. . 
نسѧتعمل   ، لѧذلك (were building)انظر إلى الفعل في الجملة، تجѧده فعѧل مسѧتمر : الخطوة الثانیة

 (being)  .ھكذا:  
A small house was being…………………………………… . 

، ونكمѧل الجملѧة إلѧى  (pp)إلѧى التصѧریف الثالѧث (building)نحول الفعل العѧادي : الخطوة الثالثة
  :فیصبح الجواب ھكذا. نھایتھا

- A small house was being built by the children. 
ً مѧن ) was(ذا اسѧتعملنا فѧي الجѧواب الفعѧل لما تتساءلإذا كنت : ملاحظة ، فھѧذا بسѧبب )were(بѧدلا
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). were(أما لو كان المفعѧول بѧھ جمѧع، یجѧب أن نسѧتعمل . مفرد )a small house(أن المفعول بھ 
  .حول الجملة التالیة ولاحظ الفرق

4. The children were building small houses. 
  :الجواب النھائي، ھكذا

- Small houses were being built by the children. 
 

  :إذا جاء الفاعل على شكل كلمات تفید النفي، مثل: ملاحظة
  :ادرس الأمثلة التالیة. یجب نفي الفعل في الجواب) no one, nobody ,noneلا أحد (

1. Nobody will close the door. 
The door will not be closed. 
 
2. No one has seen Ali lately. 
Ali has not been seen lately. 
 

ً، سنلقي نظرة على الأفعال الشكلیة  وتذكر أن تحویل ھذه الأفعال یتم بإضافة ). Modals(وأخیرا
)be+pp .(ادرس الأمثلة في الأسفل.  

- Can/could     محتمل / یمكن
They are digging new wells so that crops can be irrigated. 

ً جدیدة من أجل ري المحاصیلھم یحفرون أبا   .را
They dug new wells last year so that crops could be irrigated. 
- (have,has,had) to/must   یجب / مضطر
Something has to be done to prevent desertification. 

ً ما یجب أن یفعل من أجل منع التصحر   .شیئا
Regulation must be followed. .                                        مات یجب أن تتبعالتعلی  
 - should ینبغي 
Cars should be serviced regularly. .                         ینبغي صیانة السیارات بانتظام  
- may/might یمكن  /ربما  
Another room may/might be added.            .                  ربما تضاف غرفة جدیدة

  
  :ادرس الأمثلة). have+pp(لتحویل الأفعال الشكلیة إلى الماضي نضیف إلیھا : ملاحظة

- Ahmad could have seen the man. 
- They might have built a new road. 
- The company must have changed the prices. 

). be+ ()pp(ولیس ) been(یجب إضافة وعند تحویل الأفعال الشكلیة بصیغة الماضي إلى المبني للمجھول 
  :ادرس الأمثلة

- The man could have been seen by Ahmad. 
- A new road might have been built. 
- The prices must have been changed by the company. 
 

ادرس الجدول الذي یوضح قاعدة تحویل الأفعال الشكلیة إلى المبني للمجھول في الزمن 
  .ع والماضي منھاالمضار

  )be+pp(في الزمن المضارع   )have+been+pp(في الزمن الماضي 
can have been written can be written 
could have been mended could be mended 
must have been moved must be moved 
should have been studied should be studied 
might have been killed might be killed   
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A. Complete each of the following items so that the new item has a similar 
meaning to the one before it. 
1. The local council should collect rubbish from the main streets. 
    Rubbish ……………………………………………………………………………… 
2. Engineers couldn’t repair the bridge because it was badly damaged . 
  The bridge………………………………………… 
3. They have to post the letter by Thursday. 
     The letter ……………………………………………………………………… 
4. The government can compensate the farmers for the loss of their crops. 
     The farmers …………………………………………………………… 
5.  Architects should make tunnels wide enough. 
    Tunnels ………………………………………………………………………………… 
5. They should have forced people to go out from the dangerous area. 
    People ………………………………………………………………………………..  
6. They ought to have invited Salem to the party. 
    Salem  ought to ……………………………………………………. 
7. They grow coffee in Kenya. 
   Coffee………………………………………………………………………… . 
8. They sell organic food in that shop. 
    Organic food……………………………………………………………… . 
9. Smoking kills thousands of people every year. 
   Thousands of people ………………………………………………… . 
10. Ahmad and Hanan broke the engagement two days before the wedding. 
   The engagement………………………………………………………………… . 
11. The committee made some important decisions last night. 
   Some important decisions……………………………………………. . 
12. People have known the song for years. 
   The song…………………………………………………………………. . 
13. Samira has taken many photos during the journey. 
   Many photos…………………………………………………………. . 
14. They are sending the parcel by sea. 
   The parcel…………………………………………………………….. . 
15. I was writing an e-mail when electricity went off. 
   An-email…………………………………………………………………. . 
16. The police Chief will hold a meeting about new crimes of technology. 
    A meeting……………………………………………………………….. 
17. That shop doesn’t accept credit cards. 
   Credit cards……………………………………………………………… . 
18. My parents didn’t punish me for what I did. 
   I ………………………………………………………………………………………. . 
19. Nobody helped Nawal in her new job. 
   Nawal………………………………………………………………………………… . 
20. They are going to find a new source of energy. 
   A new source of energy……………………………………………………………… . 
 
B: Complete the following sentences by correcting the verb between 
brackets: 
1. This castle must have been …… (build) over two hundred years ago. 
2. More trees should have been ……………….. (plant) 
3. The old historical monuments ought to have ……….. (be) renovated. 
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4. The Tunnel which links Britain and France  …………………………….. in 1994. 
                     (completed  , was completed , will be completed)  

5. Windows are…………every week. (cleaning, cleans, cleaned) 
  
 Writing                        الكتابة 
A report  تقریر 
 

ً یصف بعض التغیرات التكنولوجیة التي أثرت على السفر في أوروبا: المطلوب   .ستقرأ تقریرا
  عناصر كتابة تقریر

  .اكتب مقدمة قصیرة مھد فیھا للقارئ عما ستكتب .١
 .و ثلاثة عناویناختر عنوانین رئیسیین أ .٢
 .اكتب خاتمة قصیرة لخص فیھا عما كتبتھ .٣
  )بدون اختصارات للأفعال أو استعمال عبارات عامیة(اكتب لغة رسمیة  .٤

Recent developments in transport technology 
  التطورات الحدیثة في تكنولوجیا النقل

  :قصیرة مھد فیھا للقارئ عما ستكتب، مثالاكتب مقدمة  .١
Technological changes have affected many areas of life in recent years. This 
report will focus on three changes that have affected travel in Europe. 

وسѧیركز ھѧذا التقریѧر  .لقد أثرت التغیرات التكنولوجیة كثیر من مجالات الحیاة فѧي السѧنوات الأخیѧرة
 .رت على السفر في أوروباعلى ثلاثة تغییرات والتي أث

  

 :العنوان الأول: مثال .اختر عنوانین رئیسیین أو ثلاثة عناوین .٢
Online booking   الحجز عن طریق الانترنت 
The cheapest and quickest way of buying train or airline tickets is now to book 
'online'. This involves logging on to the Internet, finding the correct website, 
typing in your travel requirements and personal details and paying by credit card.  

عѧѧن طریѧѧѧق ’أرخѧѧص وأسѧѧرع طریقѧѧة لشѧѧѧراء تѧѧذاكر القطѧѧار أو الخطѧѧوط الجویѧѧѧة الآن ھѧѧي الحجѧѧز 
لموقѧع الصѧحیح، وكتابѧة ویتضمن ذلك تسجیل الدخول إلى شبكة الإنترنت، والعثور علѧى ا .'الانترنت

  .احتیاجات السفر الخاصة بك والتفاصیل الشخصیة والدفع بواسطة بطاقة الائتمان
Passengers can then print a receipt which may also be the ,ticket' which they 
show at the airport or railway station. This is all done automatically without the 
need for any personal contact with the airline or rail company. 

، " تѧذكرة" ون أیضѧا عبѧارة عѧن ــــѧـد ذلѧك طباعѧة إیصѧال والѧذي یمكѧن أن یكــویمكن للمسافرین بع 
وكѧل ھѧذا یѧتم أوتوماتیكیѧا دون الحاجѧة إلѧى  . والذي علیھم إبرازه في المطار أو محطة السѧكة الحدیѧد

  .مع شركة الطیران أو شركة السكك الحدیدیةأي اتصال شخصي 
 :العنوان الثاني: مثال .اختر عنوانین رئیسیین أو ثلاثة عناوین .٢

 
Eurotunnel    النفق الأوروبي  
In 1994 a tunnel linking Britain with the mainland of Europe opened to the public. 
This complex and costly engineering project, which had been planned for many 
years, was paid for jointly by the French and British governments.  

ھѧѧذا المشѧѧروع   .أو بѧѧر أوروبѧѧا إلѧѧى الجمھѧѧور/افتѧѧتح نفѧѧق یѧѧربط بریطانیѧѧا مѧѧع أراضѧѧي ١٩٩٤فѧѧي عѧѧام 
شѧѧتراك الحكѧѧومتین الھندسѧѧي المكلѧѧف والمعقѧѧد، والѧѧذي  خطѧѧط لѧѧھ منѧѧذ سѧѧنوات عدیѧѧدة ، تѧѧم تمویلѧѧھ  با

  .الفرنسیة والبریطانیة
Cars are carried on railway trucks which form a train called the Shuttle, and then 
drive off at the end of their 35-minute journey through the tunnel. In the past, the 
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only alternative for motorists was a ferry, which took a minimum of 90 minutes. 
، ) أي المكѧوك( الشѧاتیل التѧي تشѧكل قطѧار یسѧمىوتنقѧل السѧیارات علѧى شѧاحنات السѧكك الحدیدیѧة و 

فѧي الماضѧي، كѧان  .دقیقѧة عبѧر النفѧق ٣٥وبعد ذلك تنطلق السیارات في نھایѧة رحلѧتھم التѧي تسѧتغرق 
ѧیاراتھم بواسѧارة البدیل الوحید أمام سائقي السیارات ھو نقل سѧفینة(طة العبѧتغرق ) سѧت تسѧي كانѧوالت

 .دقیقة ٩٠ما لا یقل عن 
  :العنوان الثالث: مثال .اختر عنوانین رئیسیین أو ثلاثة عناوین. ٣

Electronic road tolls ًتحصیل رسوم عبور الطرق الكترونیا 
Motorists have to pay to drive on motorways in Italy. Under the original system, 
all cars had to stop at kiosks at the beginning or the end of a section of motorway 
and pay cash.  

بموجѧب  .یجب علѧى سѧائقي السѧیارات دفѧع رسѧوم مѧن أجѧل القیѧادة علѧى الطѧرق السѧریعة فѧي ایطالیѧا
ایѧة أو نھایѧة مقطѧع أو القانون الأصلي،  كان علѧى جمیѧع السѧیارات التوقѧف عنѧد أكشѧاك فѧي بد/النظام

  .من الطریق السریع والدفع نقدا
Now, there is a high-tech alternative called Telepass. Under this new system, 
cars are 'recognised' so they do not have to stop. The money is taken 
automatically from each driver's bank account. 

" أي السѧѧماح بѧѧالمرور بѧѧدون توقѧѧف" "تلѧѧي بѧѧاس"ك بѧѧدیل تكنولѧѧوجي متطѧѧور یسѧѧمى الآن، ھنѧѧا أمѧѧا
علѧѧى السѧѧیارات وبالتѧѧالي لا تضѧѧطر السѧѧیارات إلѧѧى " التعѧѧرف"وبموجѧѧب ھѧѧذا النظѧѧام الجدیѧѧد، یѧѧتم  .

  .سائقمن الحساب المصرفي لكل  ویتم أخذ المال أوتوماتیكیا .التوقف
  

  :مثال .اكتب خاتمة قصیرة لخص فیھا عما كتبتھ
These are just three of the changes that have affected European travelling habits 
in recent years. In different ways, they are all dependent upon advanced 
technology. 
ھѧѧѧذه لیسѧѧѧت سѧѧѧوى ثلاثѧѧѧة مѧѧѧن التغیѧѧѧرات التѧѧѧي أثѧѧѧرت علѧѧѧى عѧѧѧادات السѧѧѧفر الأوروبیѧѧѧة فѧѧѧي السѧѧѧنوات 

  .بطرق مختلفة، فھي جمیعھا تعتمد على التكنولوجیا المتقدمة .الأخیرة
 Task واجب  /مھمة  
You are going to write a report describing some of the most important 
technological changes that have affected people's lives recently. 

  .وجیة التي أثرت على حیاة الناس مؤخراً ستقوم بكتابة تقریر یصف بعض أھم التغیرات التكنول
  

USEFUL LANGUAGE لغة مفیدة  )               ٨١كتاب الطالب صفحة (  
This report will focus on ... .....                              سیركز ھذا التقریر على  
This involves ...                          .........                                ھذا یتضمن
This is done automatically. .                            یحصل ھذا الأمر أوتوماتیكیا  
This system has succeeded in.. ..........                           نجح النظام في  
These are just three of the changes that have affected………. 

   .............وى ثلاث تغیرات والتي أثرت علىما ھذه س
New technology has enabled people to ... ...   مكنت التكنولوجیا الجدیدة الناس من  
In the future, it may be possible to ... ........  ....... في المستقبل، من المحتمل أن  

 
Study pairs of sentences and then answer the question that 
follows: 
A: There should be more dams to collect rain water. 
B: That's right. 
Which sentence expresses a recommendation? 
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 Writing a report  كتابة تقریر 
  كتابة تقریر توصیات

  .اكتب مقدمة قصیرة للتمھید للقارئ عما ستكتب .١
 .اوینعنوانین رئیسیین أو ثلاثة عن .٢
 .اكتب خاتمة قصیرة لخص فیھا ما كتبتھ .٣

  .اقرأ تقریر التوصیات التالي، ولاحظ العناصر التي في الأعلى
Safety in tunnels: Recommendations توصیات        : السلامة في الأنفاق  
In the light of a number of serious accidents and fires in tunnels in recent years, 
this report makes a number of recommendations which will reduce the risk of 
accidents and fires and minimise the impact of any that occur. 
في ضوء عدد من الحوادث الخطیرة والحرائق التي حصلت في الأنفاق في السنوات الأخیرة، یقدم ھذا التقریر عѧددا 

 .وف تقلل من مخاطر الحوادث والحرائق وتقلل من تأثیر أي حوادث تحدثمن التوصیات التي س
1. Escape routes أو النجاة             /طرق للھرب   
 
It is essential that drivers and their passengers are able to get out of a tunnel if 
there is an accident or fire. We have two recommendations which will help make 
this possible.  

لѧѧدینا  .مѧѧن الضѧѧروري أن السѧѧائقین وركѧѧابھم یكونѧѧوا قѧѧادرین علѧѧى الخѧѧروج مѧѧن نفѧѧق إذا كѧѧان ھنѧѧاك حѧѧادث أو حریѧѧق
   .ستساعدان في جعل ھذا ممكنا توصیتان

Firstly, tunnels should be made wide enough in places to allow vehicles to turn 
round and go back the way they came. Secondly, there should be separate 
tunnels for pedestrians in case people need to walk to safety. 

ثانیѧا،  .أولا،  یجب عمل أنفاق واسعة بدرجѧة كافیѧة فѧي أمѧاكن لتسѧمح للمركبѧات بالѧدوران والرجѧوع مѧن حیѧث أتѧت
 .فصلة للمشاة في حالة احتاج الناس إلى المشي إلى بر الأمانینبغي أن یكون ھناك أنفاق من

 
2. Accident prevention الوقایة من الحوادث         
It may be impossible to eliminate accidents altogether, but we have several 
recommendations which will reduce this risk. Firstly, all road tunnels over 10 
kilometres long should be divided into sections, with rest areas between the 
sections.  
قѧѧد یكѧѧون مѧѧن المسѧѧتحیل القضѧѧاء علѧѧى الحѧѧوادث تمامѧѧا، ولكѧѧن لѧѧدینا العدیѧѧد مѧѧن التوصѧѧیات التѧѧي سѧѧوف تقلѧѧل مѧѧن ھѧѧذا 

مترات إلѧى أقسѧام، مѧع وجѧود منѧاطق كیلѧو ١٠أولا، یجب تقسیم جمیع طرق الأنفѧاق التѧي یزیѧد طولھѧا عѧن  .الخطر
  .للاستراحة بین الأقسام

Secondly, the decoration of each section should be different. This "change of 
view" will make the journey less monotonous for drivers and help to prevent them 
from falling asleep. Lastly, tunnels should be well ventilated. 

سѧیجعل الرحلѧة أقѧل رتابѧة للسѧائقین ویسѧاعد " التغییر في المشѧھد"ھذا  .ثانیا، یجب أن تكون زخرفة كل قسم مختلفة 
 .وأخیرا، یجب أن تكون الأنفاق جیدة التھویة. في منعھم من النوم

3. Traffic management إدارة حركة المرور         
Finally, the flow of traffic through tunnels should be regulated. This will improve 
overall safety. We believe that if only one vehicle is allowed into a tunnel every 
five seconds, there is less chance of a multi-vehicle accident. We also 
recommend that heavy lorries should be escorted by special safety vehicles. 

ونحѧن نعتقѧد  .بشكل عѧامسیؤدي إلى تحسین السلامة  وھذا.  قنظم تدفق حركة المرور عبر الأنفایأن  یجبوأخیرا، 
تشѧترك فیѧھ حѧادث  لوقѧوعھناك فرصѧة أقѧل فإن  ثوان،نفق كل خمس  دخول مركبة واحدة فقط فيلأنھ إذا تم السماح 

 .مركبات خاصة لضمان سلامتھمقبل بضرورة مرافقة الشاحنات الثقیلة من كما نوصي . عدة مركبات
If these recommendations are accepted, we believe that the accident rate in 
tunnels could be reduced by over 75%. 

 .٪٧٥أكثر من نعتقد أنھ یمكن تخفیض معدل الحوادث في الأنفاق فإننا إذا تم قبول ھذه التوصیات، 
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  :ما نوع اللغة التي یستعملھا كتاب التقریر من أجل
a ... make recommendations?                  عمل توصیات؟ 

  ). shouldینبغي(استعمل الفعل : لتقدیم توصیات
b ... make predictions? تنبؤات؟                       /عمل توقعات  

  ). willسوف(مل الفعل استع: لتقدیم توقعات مستقبلیة
c.... show the reader that they are moving on to a new point? 

  :للتوضیح للقارئ أنھم ینتقلون إلى نقطة جدیدة استعمل كاتب التقریر العبارات التالیة
Firstly   ً أولا , secondly ثانیاً   , lastly أخیراً   , finally  في النھایة 
d. … introduce their opinions?                 تقدیم آرائھم؟ 

  )  we believeنحن نعتقد: (لتقدیم الرأي، استعمل الكاتب
 
Write a report making recommendations which will improve road safety in 
your town or city. Write 120-150 words. 

ً تقدم فیھ توصیات والتي من شأنھ: المطلوب ا أن تحسѧن السѧلامة علѧى الطѧرق فѧي بلѧدتك اكتب تقریرا
  .كلمة ١٥٠-١٢٠اكتب . أو مدینتك

  
B. GUIDED WRITING: (4 points) 
Read the information in the table below, and then in your ANSWER 
BOOKLET, write two sentences about hard working people. Use the 
appropriate linking words such as: and, too, also……….etc. 

Hard working people 
∙ listen to others. 
∙ ask questions. 
∙ offer help. 
∙ learn from others. 

  
صѧѧندوق اللغѧѧة المفیѧѧدة واسѧѧتعملھا فѧѧي الحѧѧوار، وأھѧѧم القضѧѧایا  العبѧѧارات الѧѧواردة فѧѧيحѧѧاول أن تحفѧѧظ 

  :المطلوبة منك في الامتحان ھي ما یلي
USEFUL LANGUAGE لغة                                       ٥٥كتاب الطالب صفحة 

     مفیدة
Giving advice                         احفظ واستعمل العبارات التالیة عند تقدیم النصائح 
For me the golden rule is this:…. : .........   بالنسبة لي القاعدة الذھبیة ھي ما یلي  
If you do this, ... .............                                                   إذا فعلت ذلك،  
Remember some of these tips:….. :...........             تذكر بعض ھذه النصائح  
In the end, you'll be more successful if…. ً إذا ....  في النھایة ستكون أكثر نجاحا  
Another useful tip is this: ... نصیحة مفیدة أخرى ھي                       ............:  
The best way to ... is to ...  ھو أن تقوم بـ.......أفضل طریقة من أجل أن...  ..........  
Don't forget, ...         .....                                                            لا تنس، 
In my experience, ......                                                ........حسب خبرتي،  

 
USEFUL LANGUAGE لغة مفیدة                           )    ٦٠كتاب الطالب صفحة (  
Comparing and contrasting 

  :الیةللمقارنة وتوضیح الفروق، استعمل الكلمات والعبارات الت
These people  ھؤلاء الناس / This family ھذه العائلة    needs یحتاجون   ...  
Whereas بینما / but these people ولكن ھؤلاء الناس / this family ھذه العائلة   ...  
In comparison with the city centre, this part of the town is very quiet. 

  .، ھذا الجزء من البلدة ھادئ جداً بالمقارنة مع مركز المدینة
 The flat is in a much more convenient location than the house.  

  .الشقة تقع في موقع مریح أكثر من موقع البیت
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If they lived here, it would take them less time to get to school.  
ً أقل للوصول إ   .لى المدرسةلو أنھم عاشوا ھنا، سیستغرقھم وقتا

On the other hand, it would be noisier living here.      رѧیكون أكثѧرى، سѧة أخѧن ناحیѧم
.إزعاجا ھنا  

We think this flat would be more suitable for this family because ... 
  ................نعتقد أن ھذه الشقة ستكون مناسبة أكثر للعائلة بسبب أن 

The main reason we've chosen the small house in the country is because ... 
  ..................السبب الرئیسي الذي من أجلھ اخترنا البیت الصغیر في الریف ھو بسبب أن 

 
USEFUL LANGUAGE )لغة مفیدة           )                  ٧٥ب صفحة كتاب الطال  
Explaining a choice                                   :     سبب اختیارك استعمل التعابیر التالیةلتوضیح 
I'd take the ... because ...                     ...................   بسبب...............سآخذ ھذه
We really need the ... to (+ verb) ً بحاجة إلى      )         فعل(+من أجل ......... نحن حقا
 
Presenting arguments :                              استعمل التعابیر التالیة) المناقشات(لعرض الحجج 
         
Would it be a good idea to take ...? ؟                 .....ھل ستكون فكرة جیدة أخذ  
It might be a better idea to take ... ...                       ...قد تكون فكرة جیدة أخذ  
If we don't take the ..., X might happen. قد یحدث            .  X ،  .....إذا لم نأخذ  
 
Agreeing and disagreeing.                  :              فة، نستعمللإبداء الموافقة والمخال
I agree                                                                                                        أنا موافق 
Yes, you're right.                                                                    .        نعم، انك على صواب
Okay, I see what you mean, but I don't agree.  أفھم ما تقولھ، ولكنني لا ،ً .أوافقك الرأي حسنا  
I don't agree. I don't think we'd ever use the ... ....   .......لا أعتقد أننا سنستعمل . لا أوافق   
Why don’t we leave the … and take the … instead? 

ً من ذلك؟........ونأخذ......... لم لا نغادر      بدلا
  

Expressions the writer uses to make suggestions: 
  .الكاتب لتقدیم اقتراحات لصدیقھ یستعملھاالتعابیر التي 

- Do you think we should take ...? ؟.....ھل تعتقد أن علینا أن نأخذ                        
- How about a large water container?                    وعاء ماء كبیر؟ ما رأیكم/ماذا عن
 
Make recommendations    عمل توصیات                    

  ). shouldینبغي(استعمل الفعل : لتقدیم توصیات
Make predictions          تنبؤات/عمل توقعات                          

  ). mayربما(أو )  willسوف(لعمل توقعات أو تنبؤات في المستقبل، استعمل الفعل  
  
Introduce opinions  اء   الآرتقدیم  

  ). ,In my opinionفي رأیي). ( I believe/ I thinkأنا أعتقد( لتقدیم الرأي، استعمل 
1. Complete the following mini-dialogue using an expression that shows 
giving advice, and write your answer down in your ANSWER BOOKLET.  

  .تعمال تعبیر یدل على إعطاء نصیحة، واكتب الجواب في دفتر الإجابةأكمل الحوار القصیر التالي باس   
Huda: Can you tell me how I can become fit and healthy? 
Manal:------------------------------------------------------------------------------------ . 
 
2. Complete the following mini-dialogue using an expression that shows 
agreeing, and write your answer down in your ANSWER BOOKLET. 

  .، واكتب الجواب في دفتر الإجابةموافقة على الرأيأكمل الحوار القصیر التالي باستعمال تعبیر یدل على    
Rana:  I believe it is important to take care of talented children 
Teacher:--------------------------------------------------------------------------. 
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3. Complete the following mini-dialogue using an expression that shows 
explaining a choice, and write your answer down in your ANSWER 
BOOKLET.  

  .ي باستعمال تعبیر یدل على توضیح سبب الاختیار، واكتب الجواب في دفتر الإجابةأكمل الحوار القصیر التال   
Rima: Why are you going to take your laptop on the journey? 
Nada:---------------------------------------------------------------------------------- . 
 
4. Complete the following mini-dialogue using an expression that shows 
disagreeing, and write your answer down in your ANSWER BOOKLET. 

  .أكمل الحوار القصیر التالي باستعمال تعبیر یدل على عدم الموافقة، واكتب الجواب في دفتر الإجابة   
Sami: I think it might be a good idea to take a tent with us. 
Bilal:-------------------------------------------------------------------------- . 
5. Complete the following mini-dialogue using an expression that shows 
making suggestions, and write your answer down in your ANSWER 
BOOKLET.  

  .لتالي باستعمال تعبیر یدل على تقدیم اقتراحات، واكتب الجواب في دفتر الإجابةأكمل الحوار القصیر ا   
Salem: What shall we do in the next weekend? 
Hashem:---------------------------------------------------------------------------- . 
 
6. Complete the following mini-dialogue using an expression that shows 
making a future prediction, and write your answer down in your ANSWER 
BOOKLET.  

  .أكمل الحوار القصیر التالي باستعمال تعبیر یوضح عمل تنبؤ للمستقبل
Rawan: They are building a new bridge on that crossroad. 

    .انھم یشیدون جسر على تقاطع الطرق
Maha: -------------------------------------------------------------------------------. 
 
7. Complete the following mini-dialogue using an expression that shows 
recommendation, and write your answer down in your ANSWER BOOKLET.  

  .دفتر الإجابة في، واكتب الجواب ) أي نصیحة(لي باستعمال تعبیر یدل على توصیة أكمل الحوار القصیر التا   
Ahmad: There are many car accidents take place on that street. 
Rami:--------------------------------------------------------------------------------------------------- 
 
8. Complete the following mini-dialogue using an expression that shows 
comparing and contrasting, and write your answer down in your ANSWER 
BOOKLET.  

  . أكمل الحوار القصیر واستعمل تعبیر یدل على المقارنة وإظھار الفرق، واكتب جوابك في دفترك للإجابة
Nawal: Can you tell me which is better living in the country or the city? 
Marwa: ------------------------------------------------------------------------------------------- . 
 
 
 
 


